

# Some new bound estimates of the Hermitian positive definite solutions of the nonlinear matrix equation $X^s + A^* X^{-t} A = Q$

Cai Jing<sup>1,2</sup> Chen Jianlong<sup>1</sup>

(<sup>1</sup>School of Mathematics, Southeast University, Nanjing 211189, China)

(<sup>2</sup>School of Science, Huzhou University, Huzhou 313000, China)

**Abstract:** The range and existence conditions of the Hermitian positive definite solutions of nonlinear matrix equations  $X^s + A^* X^{-t} A = Q$  are studied, where  $A$  is an  $n \times n$  non-singular complex matrix and  $Q$  is an  $n \times n$  Hermitian positive definite matrix and parameters  $s, t > 0$ . Based on the matrix geometry theory, relevant matrix inequality and linear algebra technology, according to the different value ranges of the parameters  $s, t$ , the existence intervals of the Hermitian positive definite solution and the necessary conditions for equation solvability are presented, respectively. Comparing the existing correlation results, the proposed upper and lower bounds of the Hermitian positive definite solution are more accurate and applicable.

**Key words:** nonlinear matrix equation; Hermitian positive definite solution; solution bound; matrix inequality

**DOI:** 10.3969/j.issn.1003-7985.2019.01.020

In this paper, we consider the following nonlinear matrix equations:

$$X^s + A^* X^{-t} A = Q \quad (1)$$

where  $A^*$  denotes the conjugate transpose of the  $n \times n$  nonsingular complex matrix  $A$  and  $Q$  is a Hermitian positive definite matrix with the general case  $s, t > 0$ .

The nonlinear matrix equation  $X^s + A^* X^{-t} A = Q$  has many applications in control theory, dynamic programming, stochastic filtering and statistics etc., see Refs. [1–5] and the relevant reference therein. In recent years, the theory and computation of the Hermitian positive definite solutions of Eq. (1), such as existence conditions, perturbation analysis, and the numerical algorithm, have been widely studied. The case  $s = t = 1$  has been discussed by several authors<sup>[1–2, 4–8]</sup>. Hasanov and Ivanov<sup>[9–10]</sup> discussed the Hermitian positive definite solutions with the

case  $s = 1, t \in \mathbf{N}^+$ , where  $\mathbf{N}^+$  denotes the set of positive integers. Liu et al.<sup>[11–13]</sup> considered the case  $s, t \in \mathbf{N}^+$ . The cases  $s = 1, t \in [0, 1]$  and  $s = 1, t \in [1, +\infty)$  were discussed by Hasanov et al.<sup>[14–15]</sup>. Cai et al.<sup>[16–17]</sup> considered the case:  $0 < t \leq 1, s \geq 1$  or  $t \geq 1, 0 < s \leq 1$ . However, the general case  $s, t > 0$  is rarely considered.

In this paper, we study the bounds of the Hermitian positive definite solutions of Eq. (1) in the general case  $s, t > 0$ . In practice, giving precise estimates of solution bounds before actually solving the problem can help to search for the solutions and reduce computational burdens. It also can be a check of whether the solution techniques result in valid solutions. The following notations are used throughout this paper.  $\mathbf{C}^{m \times n}$  denotes the set of  $m \times n$  complex matrices. Let  $B > 0 (B \geq 0)$  denote that  $B$  is a Hermitian positive definite (semidefinite) matrix. For Hermitian matrices  $B, C \in \mathbf{C}^{n \times n}$ , we write  $B > C (B \geq C)$  if  $B - C > 0 (B - C \geq 0)$ . For any Hermitian matrix  $H$ , its eigenvalues are ordered as  $\lambda_1(H) \geq \lambda_2(H) \geq \dots \geq \lambda_n(H)$ .

For convenience of discussion, in the sequel, a solution always means a Hermitian positive definite solution unless otherwise noted.

## 1 Some New Bounds of the Solutions

First, we give some lemmas which are useful for obtaining our main results.

**Lemma 1**<sup>[18]</sup> If  $B > C > 0$  (or  $B \geq C > 0$ ), then  $B^\gamma > C^\gamma > 0$  (or  $B^\gamma \geq C^\gamma > 0$ ) for all  $\gamma \in (0, 1]$  and  $0 < B^\gamma < C^\gamma$  (or  $0 < B^\gamma \leq C^\gamma$ ) for all  $\gamma \in [-1, 0)$ .

**Lemma 2**<sup>[19]</sup> Let  $B$  and  $C$  be positive operators on a Hilbert space such that  $0 < m_1 \leq B \leq M_1, 0 < m_2 \leq C \leq M_2$ , and  $0 < B \leq C$ . Then

$$B^p \leq \left( \frac{M_1}{m_1} \right)^{p-1} C^p, \quad B^p \leq \left( \frac{M_2}{m_2} \right)^{p-1} C^p$$

hold for any  $p \geq 1$ .

**Lemma 3**<sup>[21]</sup> Let  $B \in \mathbf{C}^{n \times n}, U \in \mathbf{C}^{n \times k}, V \in \mathbf{C}^{k \times n}$ , and  $B, B - UV$  be nonsingular, then

$$(B - UV)^{-1} = B^{-1} - B^{-1} U (VB^{-1} U - I)^{-1} V B^{-1}$$

**Lemma 4**<sup>[13]</sup> Let  $f(x) = x^t (\theta - x^s), \theta > 0, x \geq 0$ . Then

1)  $f$  is increasing on  $\left[0, \left(\frac{t}{s+t}\theta\right)^{1/s}\right]$  and decreasing on  $\left[\left(\frac{t}{s+t}\theta\right)^{1/s}, +\infty\right)$ ;

Received 2018-07-10, Revised 2018-12-01.

**Biographies:** Cai Jing (1975—), female, doctor, associate professor, huzhoucaijing@163.com; Chen Jianlong (corresponding author), male, doctor, professor, jlchen@seu.edu.cn.

**Foundation items:** The National Natural Science Foundation of China (No. 11371089), the China Postdoctoral Science Foundation (No. 2016M601688).

**Citation:** Cai Jing, Chen Jianlong. Some new bound estimates of the Hermitian positive definite solutions of the nonlinear matrix equation  $X^s + A^* X^{-t} A = Q$  [J]. Journal of Southeast University (English Edition), 2019, 35(1): 142–146. DOI: 10.3969/j.issn.1003-7985.2019.01.020.

$$2) f_{\max} = f\left(\left(\frac{t}{s+t}\theta\right)^{1/s}\right) = \frac{s}{s+t}\left(\frac{t}{s+t}\right)^{t/s}\theta^{t/s+1}.$$

The following theorem presents some solution bounds of Eq. (1) which may help us to obtain rough estimate of the solutions and reduce the computational cost.

**Theorem 1** Suppose that  $X$  is a solution of Eq. (1). If  $s \geq t > 0$  and  $s \geq 1$ , then

$$\left(\frac{\lambda_n(B)}{\lambda_1(B)}\right)^{1/t-1/s} B^{1/t} < X < (Q - A^*(Q - A^*Q^{-t/s}A)^{-t/s}A)^{1/s} \quad (2)$$

where  $B = AQ^{-1}A^* + AQ^{-1}(\eta(AQ^{-1}A^*)^{-s/t} - Q^{-1})^{-1}Q^{-1}A^*$

with  $\eta = \left(\frac{\lambda_1(AQ^{-1}A^*)}{\lambda_n(AQ^{-1}A^*)}\right)^{s/t-1}$ .

If  $0 < s \leq t$  and  $t \geq 1$ , then

$$X > \{AQ^{-1}A^* + AQ^{-1}[(Q - \left(\frac{\lambda_n(Q)}{\lambda_1(Q)}\right)^{t/s-1}A^*Q^{-t/s}A)^{-1} - Q^{-1}]^{-1}Q^{-1}A^*\}^{1/t} \quad (3)$$

and

$$X < \left(\frac{\mu}{\nu}\right)^{1/s-1/t} \left(Q - \left(\frac{\lambda_n(Q)}{\lambda_1(Q)}\right)^{t/s-1}A^*Q^{-t/s}A\right)^{1/s} \quad (4)$$

where  $\mu$  and  $\nu$  are the maximal and minimal eigenvalues

of the matrix  $Q - \left(\frac{\lambda_n(Q)}{\lambda_1(Q)}\right)^{t/s-1}A^*Q^{-t/s}A$ .

**Proof** Suppose that  $X$  is a solution of Eq. (1), then  $X^s = Q - A^*X^{-t}A < Q$ .

If  $s \geq t > 0$  and  $s \geq 1$ , then according to Lemma 1, we have  $X^{-t} = (X^{-s})^{t/s} > Q^{-t/s}$ .

From which it follows that

$$X^{-t} = (X^s)^{-t/s} = (Q - A^*X^{-t}A)^{-t/s} > (Q - A^*Q^{-t/s}A)^{-t/s}$$

Then, we have

$$X^s = Q - A^*X^{-t}A < Q - A^*(Q - A^*Q^{-t/s}A)^{-t/s}A$$

which yields

$$X < (Q - A^*(Q - A^*Q^{-t/s}A)^{-t/s}A)^{1/s} \quad (5)$$

On the other hand, since

$$X^{-t} = (A^*)^{-1}(Q - X^s)A^{-1} = (A(Q - X^s)^{-1}A^*)^{-1} < (AQ^{-1}A^*)^{-1} \quad (6)$$

according to Lemma 2, we obtain

$$X^{-s} = (X^{-t})^{s/t} < \left(\frac{\lambda_1(AQ^{-1}A^*)}{\lambda_n(AQ^{-1}A^*)}\right)^{s/t-1} (AQ^{-1}A^*)^{-s/t} \equiv \eta(AQ^{-1}A^*)^{-s/t} \quad (7)$$

By Lemma 3 and (7), we have

$$\begin{aligned} X^t &= A(Q - X^s)^{-1}A^* = \\ &= A(Q^{-1} - Q^{-1}(X^sQ^{-1} - I)^{-1}X^sQ^{-1})A^* = \\ &= A(Q^{-1} + Q^{-1}(X^{-s} - Q^{-1})^{-1}Q^{-1})A^* > \\ &= AQ^{-1}A^* + AQ^{-1}(\eta(AQ^{-1}A^*)^{-s/t} - Q^{-1})^{-1}Q^{-1}A^* \equiv B \end{aligned} \quad (8)$$

Then, according to Lemma 2, we obtain

$$X^s = (X^t)^{s/t} > \left(\frac{\lambda_n(B)}{\lambda_1(B)}\right)^{s/t-1} B^{s/t}$$

which implies  $X > \left(\frac{\lambda_n(B)}{\lambda_1(B)}\right)^{1/t-1/s} B^{1/t}$ .

If  $0 < s \leq t$  and  $t \geq 1$ , according to Lemma 2 and the inequality

$$X^s = Q - A^*X^{-t}A < Q$$

we obtain  $X^t = (X^s)^{t/s} < \left(\frac{\lambda_1(Q)}{\lambda_n(Q)}\right)^{t/s-1} Q^{t/s}$ . Then we have

$$X^s = Q - A^*X^{-t}A < Q - \left(\frac{\lambda_n(Q)}{\lambda_1(Q)}\right)^{t/s-1} A^*Q^{-t/s}A \quad (9)$$

Hence, by Lemma 2, we have

$$X^t = (X^s)^{t/s} < \left(\frac{\mu}{\nu}\right)^{t/s-1} \left(Q - \left(\frac{\lambda_n(Q)}{\lambda_1(Q)}\right)^{t/s-1} A^*Q^{-t/s}A\right)^{t/s} \quad (10)$$

where  $\mu$  and  $\nu$  are the maximal and minimal eigenvalues

of the matrix  $Q - \left(\frac{\lambda_n(Q)}{\lambda_1(Q)}\right)^{t/s-1} A^*Q^{-t/s}A$ .

Noting that  $t \geq 1$ , it follows from (10) and Lemma 1 that

$$X < \left(\frac{\mu}{\nu}\right)^{1/s-1/t} \left(Q - \left(\frac{\lambda_n(Q)}{\lambda_1(Q)}\right)^{t/s-1} A^*Q^{-t/s}A\right)^{1/s}$$

Combining (9) and Lemma 3, we obtain

$$\begin{aligned} X^t &= A(Q - X^s)^{-1}A^* = \\ &= A(Q^{-1} - Q^{-1}(X^sQ^{-1} - I)^{-1}X^sQ^{-1})A^* = \\ &= A(Q^{-1} + Q^{-1}(X^{-s} - Q^{-1})^{-1}Q^{-1})A^* > \\ &= AQ^{-1}A^* + AQ^{-1}[(Q - \left(\frac{\lambda_n(Q)}{\lambda_1(Q)}\right)^{t/s-1} A^*Q^{-t/s}A)^{-1} - \\ &\quad Q^{-1}]^{-1}Q^{-1}A^* \end{aligned}$$

which yields

$$X > \{AQ^{-1}A^* + AQ^{-1}[(Q - \left(\frac{\lambda_n(Q)}{\lambda_1(Q)}\right)^{t/s-1} A^*Q^{-t/s}A)^{-1} - Q^{-1}]^{-1}Q^{-1}A^*\}^{1/t}$$

This completes the proof.

**Corollary 1** Assume that Eq. (1) has a solution.

If  $s \geq 1, 0 < t \leq 1$ , then

$$\left(\frac{\lambda_n(B)}{\lambda_1(B)}\right)^{1/t-1} B^{1/t} < X < (Q - A^*(Q - A^*Q^{-t/s}A)^{-t/s}A)^{1/s} \quad (11)$$

where  $B$  is as the same as the one defined in Theorem 1.

If  $0 < s \leq 1, t \geq 1$ , then

$$X > \{AQ^{-1}A^* + AQ^{-1}[(Q - \left(\frac{\lambda_n(Q)}{\lambda_1(Q)}\right)^{t/s-1} A^*Q^{-t/s}A)^{-1} - Q^{-1}]^{-1}Q^{-1}A^*\}^{1/t} \quad (12)$$

and

$$X < \left( \frac{\mu}{\nu} \right)^{1/s-1} \left( Q - \frac{\lambda_n(Q)}{\lambda_1(Q)} A^* Q^{-t/s} A \right)^{1/s} \quad (13)$$

where  $\mu$  and  $\nu$  are as the same as the ones defined in Theorem 1.

**Proof**

If  $s \geq 1, 0 < t \leq 1$ , then by (8) and Lemma 2, we obtain  $X > \left( \frac{\lambda_n(B)}{\lambda_1(B)} \right)^{1/t-1} B^{1/t}$ . Moreover, the upper bound in (11) can be derived by Theorem 1. If  $0 < s \leq 1, t \geq 1$ , then by (9) and Lemma 2, we obtain  $X < \left( \frac{\mu}{\nu} \right)^{1/s-1} \left( Q - \left( \frac{\lambda_n(Q)}{\lambda_1(Q)} \right)^{t/s-1} A^* Q^{-t/s} A \right)^{1/s}$ .

The lower bound in (12) can be derived by Theorem 1. This completes the proof.

**Remark 1** Zhou et al. [17] presented the bounds of the solutions of Eq. (1) with the case  $s \geq 1, 0 < t \leq 1$  or  $0 < s \leq 1, t \geq 1$  as follows.

If  $s \geq 1, 0 < t \leq 1$ , then

$$\left( \frac{\lambda_n(B)}{\lambda_1(B)} \right)^{1/t-1} B^{1/t} < X < (Q - A^* Q^{-t/s} A)^{1/s} \quad (14)$$

If  $0 < s \leq 1, t \geq 1$ , then

$$[AQ^{-1}A^* + AQ^{-1}((AQ^{-1}A^*)^{-s/t} - Q^{-1})^{-1}Q^{-1}A^*]^{1/t} < X < \left( \frac{\mu}{\nu} \right)^{1/s-1} \left( Q - \left( \frac{\lambda_n(Q)}{\lambda_1(Q)} \right)^{t/s-1} A^* Q^{-t/s} A \right)^{1/s} \quad (15)$$

where  $B, \mu$  and  $\nu$  are as the same as the ones defined in Theorem 1.

Comparing Corollary 1 with (14) and (15), one can easily find that for the case  $s \geq 1, 0 < t \leq 1$ , the upper bound of  $X$  in (11) is smaller than that in (14). For the case  $0 < s \leq 1, t \geq 1$ , combining (6) and (9), we have

$$\left( Q - \left( \frac{\lambda_n(Q)}{\lambda_1(Q)} \right)^{t/s-1} A^* Q^{-t/s} A \right)^{-1} < X^{-s} = (X^{-t})^{s/t} < (AQ^{-1}A^*)^{-s/t} \quad (16)$$

which implies that the lower bound of  $X$  in (12) is larger than that in (15). Hence, our estimate in Corollary 1 is sharper.

**Corollary 2** Assume that Eq. (1) with the case  $s, t \in \mathbf{N}^+$  has a solution.

If  $s \geq t$ , then

$$B^{1/t} < X < (Q - A^* (Q - A^* Q^{-t/s} A)^{-t/s} A)^{1/s} \quad (17)$$

where  $B$  is as the same as the one defined in Theorem 1.

If  $s \leq t$ , then

$$X > \{AQ^{-1}A^* + AQ^{-1}[(Q - \left( \frac{\lambda_n(Q)}{\lambda_1(Q)} \right)^{t/s-1} A^* Q^{-t/s} A)^{-1} - Q^{-1}]^{-1}Q^{-1}A^*\}^{1/t}$$

and

$$X < \left( Q - \left( \frac{\lambda_n(Q)}{\lambda_1(Q)} \right)^{t/s-1} A^* Q^{-t/s} A \right)^{1/s} \quad (18)$$

**Proof** For the case  $s, t \in \mathbf{N}^+$ , if  $s \geq t$ , then it follows from the right sides of (2), (8) and Lemma 1 that (17) holds. If  $s \leq t$ , it follows from the left sides of (3), (9) and Lemma 1 that (18) holds. This completes the proof.

**Remark 2** Duan and Liao [13] obtained the bounds of the solution  $X$  of Eq. (1) with the case  $s, t \in \mathbf{N}^+$  as follows:

$$X \in (M, N) \quad (19)$$

where

$$M = \{AQ^{-1}A^* + AQ^{-1} \left[ \left( \frac{\lambda_1(A^{-s}QA^{-1})}{\lambda_n(A^{-s}QA^{-1})} \right)^{(s-1)/t} (A^{-s}QA^{-1})^{s/t} - Q^{-1} \right]^{-1} Q^{-1}A^*\}^{1/t}$$

$$N = [Q - \left( \frac{\lambda_n(Q^{-1})}{\lambda_1(Q^{-1})} \right)^{t-1} A^* Q^{-t/s} A]^{1/s}$$

For the case  $s, t \in \mathbf{N}^+$ , if  $s \geq t$ , comparing (17) with (19), we have

$$B^{1/t} = [AQ^{-1}A^* + AQ^{-1}(\eta(AQ^{-1}A^*)^{-s/t} - Q^{-1})^{-1}Q^{-1}A^*]^{1/t} = \{AQ^{-1}A^* + AQ^{-1} \left[ \left( \frac{\lambda_1(AQ^{-1}A^*)}{\lambda_n(AQ^{-1}A^*)} \right)^{s/t-1} (AQ^{-1}A^*)^{-s/t} - Q^{-1} \right]^{-1} Q^{-1}A^*\}^{1/t} > M$$

and  $(Q - A^* (Q - A^* Q^{-t/s} A)^{-t/s} A)^{1/s} < (Q - A^* Q^{-t/s} A)^{1/s} < N$ .

If  $s \leq t$ , since  $s \geq 1$ , we have

$$\left( Q - \left( \frac{\lambda_n(Q)}{\lambda_1(Q)} \right)^{t/s-1} A^* Q^{-t/s} A \right)^{1/s} \leq [Q - \left( \frac{\lambda_n(Q^{-1})}{\lambda_1(Q^{-1})} \right)^{(t-1)/s} A^* Q^{-t/s} A]^{1/s} = N$$

Furthermore, according to (16), we obtain

$$\{AQ^{-1}A^* + AQ^{-1}[(Q - \left( \frac{\lambda_n(Q)}{\lambda_1(Q)} \right)^{t/s-1} A^* Q^{-t/s} A)^{-1} - Q^{-1}]^{-1}Q^{-1}A^*\}^{1/t} > M$$

So, our estimate in Corollary 2 is sharper than Theorem 2.1 in Duan and Liao [13].

## 2 Conditions for the Existence of Solutions

The following theorem gives the necessary condition for the existence of solutions.

**Theorem 2** If Eq. (1) with the case  $s \geq t$  has a solution  $X$ , then

$$\sigma_n^2(Q^{-t/2s}AQ^{-1/2}) < \frac{s}{s+t} \left( \frac{t}{s+t} \right)^{t/s}$$

and  $X^s \leq \alpha Q$ , where  $\alpha$  is a solution of the equation  $x^{-t/s}(1-x^{-1}) = \sigma_n^2(Q^{-t/2s}AQ^{-1/2})$  in  $[1, \frac{s+t}{t}]$ .

If Eq. (1) with the case  $s \leq t$  has a solution  $X$ , then

$$\sigma_n^2((AQ^{-1}A^*)^{s/2t}Q^{-1/2}) < \frac{t}{s+t} \left( \frac{s}{s+t} \right)^{s/t}$$

and  $X^s \geq \beta^{s/t}(AQ^{-1}A^*)^{s/t}$ , where  $\beta$  is a solution of the equation  $x^{-s/t}(1-x^{-1}) = \sigma_n^2((AQ^{-1}A^*)^{s/2t}Q^{-1/2})$  in  $[1, \frac{s+t}{s}]$ .

**Proof** Let  $X$  be a solution of Eq. (1). Then  $X^{-s}$  is a solution of the following equation:

$$Y^{-1} + A^* Y^{t/s} A = Q \quad (20)$$

From which it follows that

$$Q^{-1/2} Y^{-1} Q^{-1/2} = I - Q^{-1/2} A^* Y^{t/s} A Q^{-1/2}$$

Then, we have

$$\begin{aligned} \lambda_n(Q^{1/2} Y Q^{1/2})^{-1} &= \lambda_1(Q^{-1/2} Y^{-1} Q^{-1/2}) = \\ &= \lambda_1(I - Q^{-1/2} A^* Y^{t/s} A Q^{-1/2}) = \\ &= 1 - \lambda_n(Q^{-1/2} A^* Q^{-t/2s} Q^{t/2s} Y^{t/s} Q^{t/2s} Q^{-1/2} A Q^{-1/2}) = \\ &= 1 - \lambda_n(Q^{1/2} Y Q^{1/2})^{t/s} \sigma_n^2(Q^{-t/2s} A Q^{-1/2}) \end{aligned}$$

which yields

$$\sigma_n^2(Q^{-t/2s} A Q^{-1/2}) \leq \lambda_n(Q^{1/2} Y Q^{1/2})^{-t/s} [1 - \lambda_n(Q^{1/2} Y Q^{1/2})^{-1}] \quad (21)$$

Consider the function  $f(x) = x^{-t/s}(1-x^{-1})$ . Noting that  $\max_{x \in (0, +\infty)} f(x) = f\left(\frac{s+t}{t}\right) = \frac{s}{s+t} \left(\frac{t}{s+t}\right)^{t/s}$ , then by (21), we obtain  $\sigma_n^2(Q^{-t/2s} A Q^{-1/2}) \leq \frac{s}{s+t} \left(\frac{t}{s+t}\right)^{t/s}$ .

Define a sequence as follows:

$$\alpha_0 = 1, \alpha_{k+1} = (1 - \alpha_k^{t/s} \sigma_n^2(Q^{-t/2s} A Q^{-1/2}))^{-1} \quad k=0, 1, 2, \dots \quad (22)$$

For the case  $s \geq t$ , we have

$$Y = (Q - A^* Y^{t/s} A)^{-1} > Q^{-1} = \alpha_0 Q^{-1}$$

Assume that  $Y \geq \alpha_k Q^{-1}$ . By Lemma 1, we have

$$\begin{aligned} Y &= (Q - A^* Y^{t/s} A)^{-1} \geq (Q - \alpha_k^{t/s} A^* Q^{-t/s} A)^{-1} = \\ &= [Q^{1/2} (I - \alpha_k^{t/s} Q^{-1/2} A^* Q^{-t/s} A Q^{-1/2})^{-1} Q^{1/2}]^{-1} \geq \\ &= [Q^{1/2} (1 - \alpha_k^{t/s} \sigma_n^2(Q^{-t/2s} A Q^{-1/2}) Q^{1/2})^{-1}]^{-1} = \\ &= [\alpha_{k+1}^{-1} Q]^{-1} = \alpha_{k+1} Q^{-1}. \end{aligned}$$

So, by the principle of induction, we obtain  $Y \geq \alpha_k Q^{-1}$  ( $k=0, 1, 2, \dots$ ). In addition, it is easy to verify that the sequence  $\{\alpha_k\}$  is monotonically increasing and has an upper bound  $(s+t)/t$  by induction. Hence,  $\{\alpha_k\}$  is convergent.

Let  $\lim_{k \rightarrow \infty} \alpha_k = \alpha$ , then  $Y \geq \alpha Q^{-1}$ . Hence,  $X^s \leq \alpha Q$ , where  $\alpha$  is a solution of the equation  $x^{-s/t}(1-x^{-1}) = \sigma_n^2(Q^{-t/2s} A Q^{-1/2})$  in  $[1, \frac{s+t}{t}]$ .

On the other hand, if Eq. (1) with the case  $s \leq t$  has a

solution  $X$ , then we have  $X^t = A(Q - X^s)^{-1} A^*$ .

Let  $Z = X^s$ , the former matrix equation can be reduced to  $Z = [A(Q - Z) - 1A^*]^{s/t}$ . Then, we obtain

$$\begin{aligned} \lambda_n(Q^{-1/2} Z Q^{-1/2}) &= \lambda_n(Q^{-1/2} [A(Q - Z)^{-1} A^*]^{s/t} Q^{-1/2}) = \\ &= \lambda_n(Q^{-1/2} [A Q^{-1/2} (I - Q^{-1/2} Z Q^{-1/2})^{-1} Q^{-1/2} A^*]^{s/t} Q^{-1/2}) \geq \\ &= \lambda_n(Q^{-1/2} (A Q^{-1/2} A^*)^{s/t} Q^{-1/2}) \lambda_n((I - Q^{-1/2} Z Q^{-1/2})^{-s/t}) \geq \\ &= \sigma_n^2((A Q^{-1/2} A^*)^{s/2t} Q^{-1/2}) [1 - \lambda_n(Q^{-1/2} Z Q^{-1/2})]^{-s/t} \end{aligned}$$

That is

$$\sigma_n^2((A Q^{-1/2} A^*)^{s/2t} Q^{-1/2}) \leq \lambda_n(Q^{-1/2} Z Q^{-1/2}) [1 - \lambda_n(Q^{-1/2} Z Q^{-1/2})]^{s/t} \quad (23)$$

Consider the function  $g(x) = x(1-x)^{s/t}$ . Noting that

$$\max_{x \in (0, +\infty)} g(x) = f\left(\frac{t}{s+t}\right) = \frac{t}{s+t} \left(\frac{s}{s+t}\right)^{s/t}, \text{ by (23), we obtain } \sigma_n^2((A Q^{-1/2} A^*)^{s/2t} Q^{-1/2}) \leq \frac{t}{s+t} \left(\frac{s}{s+t}\right)^{s/t}.$$

Define another sequence as follows:

$$\beta_0 = 1, \beta_{k+1} = (1 - \beta_k^{s/t} \sigma_n^2((A Q^{-1/2} A^*)^{s/2t} Q^{-1/2}))^{-1} \quad k=0, 1, 2, \dots \quad (24)$$

For the case  $s \leq t$ , we have

$$Z = [A(Q - Z)^{-1} A^*]^{s/t} > \beta_0^{s/t} (A Q^{-1/2} A^*)^{s/t}$$

Assume that  $Z > \beta_k^{s/t} (A Q^{-1/2} A^*)^{s/t}$ . By Lemma 1 and hypothesis, we have

$$\begin{aligned} Z &= [A(Q - Z)^{-1} A^*]^{s/t} = \\ &= [A Q^{-1/2} (I - Q^{-1/2} Z Q^{-1/2})^{-1} Q^{-1/2} A^*]^{s/t} \geq \\ &= [A Q^{-1/2} (I - \beta_k^{s/t} Q^{-1/2} (A Q^{-1/2} A^*)^{s/t} Q^{-1/2})^{-1} Q^{-1/2} A^*]^{s/t} \geq \\ &= [A Q^{-1/2} (I - \beta_k^{s/t} \sigma_n^2((A Q^{-1/2} A^*)^{s/2t} Q^{-1/2})^{-1} Q^{-1/2} A^*)^{s/t}]^{s/t} = \\ &= \beta_{k+1}^{s/t} (A Q^{-1/2} A^*)^{s/t} \end{aligned}$$

Then, by the principle of induction, we conclude that  $Z > \beta_k^{s/t} (A Q^{-1/2} A^*)^{s/t}$  ( $k=0, 1, 2, \dots$ ). In addition, it is easy to verify that  $\{\beta_k\}$  is monotonically increasing and has an upper bound  $(s+t)/s$  by induction. Hence  $\{\beta_k\}$  is convergent.

Let  $\lim_{k \rightarrow \infty} \beta_k = \beta$ , then  $Z > \beta^{s/t} (A Q^{-1/2} A^*)^{s/t}$ , i. e.,  $X^s > \beta^{s/t} (A Q^{-1/2} A^*)^{s/t}$ , where  $\beta$  is a solution of the equation  $x^{-s/t}(1-x^{-1}) = \sigma_n^2((A Q^{-1/2} A^*)^{s/2t} Q^{-1/2})$  in  $[1, \frac{s+t}{s}]$ .

This completes the proof.

### 3 Conclusion

In this paper, the bounds and existence conditions of the Hermitian positive definite solutions of the nonlinear matrix equation  $X^s + A^* X^{-t} A = Q$  with general case  $s, t > 0$  are discussed. Sharper bound estimations of the solutions of Eq. (1) are obtained with respect to different cases of  $s, t$ . The necessary condition for the existence of solutions is presented. Based on this, some corresponding results of Eq. (1) are generalized and improved.

References

[1] Anderson W N, Morley T D, Trapp G E. Positive solutions to  $X=A-BX^{-1}B^*$  [J]. *Linear Algebra and Its Applications*, 1990, **134**: 53-62. DOI: 10.1016/0024-3795(90)90005-W.

[2] Ivanov I G, Uhlig F. Improved methods and starting values to solve the matrix equations  $X \pm A^* X^{-1} A = I$  iteratively[J]. *Mathematics of Computation*, 2005, **74**: 263-278. DOI: 10.1090/S0025-5718-04-01636-9.

[3] Li L, Wang Q W, Shen S Q. On positive definite solutions of the nonlinear matrix equations  $X \pm A^* X^q A = Q$  [J]. *Applied Mathematics and Computation*, 2015, **271**: 556-566. DOI: 10.1016/j.amc.2015.09.002.

[4] Naglaa M E. On the perturbation estimates of the maximal solution for the matrix equation  $X + A^T X^{-1} A = P$  [J]. *Journal of the Egyptian Mathematical Society*, 2016, **24** (4): 644-649. DOI: 10.1016/j.joems.2016.04.004.

[5] Hasanov V I, Hakkaev S A. Convergence analysis of some iterative methods for a nonlinear matrix equation [J]. *Computers and Mathematics with Applications*, 2016, **72** (4): 1164-1176. DOI: 10.1016/j.camwa.2016.06.035.

[6] Engwerda J C, Ran A C M, Rijkeboer A L. Necessary and sufficient conditions for the existence of a positive  $X \pm A^* X^q A = Q$  [J]. *Linear Algebra and Its Applications*, 1993, **186**: 255-275. DOI: 10.1016/0024-3795(93)90295-Y.

[7] El-Sayed S M, Al-Dbiban A M. A new inversion free iteration for solving the equation  $X + A^* X^{-1} A = Q$  [J]. *Journal of Computational and Applied Mathematics*, 2005, **181**: 148-156. DOI: 10.1016/j.cam.2004.11.025.

[8] Chiang C Y. An accelerated technique for solving the positive definite solutions of a class of nonlinear matrix equations [J]. *Journal of the Franklin Institute*, 2017, **354**(15): 7088-7118. DOI: 10.1016/j.jfranklin.2017.08.018.

[9] Hasanov V I, Ivanov I G. Solutions and perturbation estimates for the matrix equations  $X \pm A^* X^{-n} A = Q$  [J]. *Applied Mathematics and Computation*, 2004, **156**(2): 513-525. DOI: 10.1016/j.amc.2003.08.007.

[10] Ivanov I G. On positive definite solutions of the family of matrix equations  $X + A^* X^{-n} A = Q$  [J]. *Journal of Computational and Applied Mathematics*, 2006, **193**: 277-301. DOI: 10.1016/j.cam.2005.06.007.

[11] Liu X G, Gao H. On the positive definite solutions of the equation  $X^s + A^* X^{-t} A = I_n$  [J]. *Linear Algebra and Its Applications*, 2003, **368**: 83-97. DOI: 10.1016/S0024-3795(02)00661-4.

[12] Yang Y T. The iterative method for solving nonlinear matrix equation  $X^s + A^* X^{-t} A = Q$  [J]. *Applied Mathematics and Computation*, 2007, **188** (1): 46-53. DOI: 10.1016/j.amc.2006.09.085.

[13] Duan X F, Liao A P. On the existence of Hermitian positive definite solutions of the matrix equation  $X^s + A^* X^{-t} A = Q$  [J]. *Linear Algebra and Its Applications*, 2008, **429**: 673-687. DOI: 10.1016/j.laa.2008.03.019.

[14] Hasanov V I, El-Sayed S M. On the positive definite solutions of nonlinear matrix equation  $X + A^* X^{-\delta} A = Q$  [J]. *Linear Algebra and Its Applications*, 2006, **412**: 154-160. DOI: 10.1016/j.laa.2005.06.026.

[15] Duan X F, Liao A P. On the nonlinear matrix equation  $X + A^* X^{-q} A = Q$  ( $q \geq 1$ ) [J]. *Mathematical and Computer Modelling*, 2009, **49**: 936-945. DOI: 10.1016/j.mcm.2008.10.009.

[16] Cai J, Chen G L. On the Hermitian positive definite solutions of nonlinear matrix equation  $X^s + A^* X^{-t} A = Q$  [J]. *Applied Mathematics and Computation*, 2010, **217** (1): 117-123. DOI: 10.1016/j.amc.2010.05.023.

[17] Zhou D M, Chen G L, Wu G X, et al. Some properties of the nonlinear matrix equation  $X^s + A^* X^{-t} A = Q$  [J]. *Journal of Mathematical Analysis and Applications*, 2012, **392**: 75-82. DOI: 10.1016/j.jmaa.2012.02.046.

[18] Zhan X Z. *Matrix inequalities* [M]//Lecture Notes in Mathematics. Springer. 2002, **1790**: 1-115. DOI: 10.1007/b83956.

[19] Furuta T. Operator inequalities associated with Holder-McCarthy and Kantorovich inequalities[J]. *Journal of Inequalities and Applications*, 1998, **6**: 137-148. DOI: 10.1155/S1025583498000083.

非线性矩阵方程  $X^s + A^* X^{-t} A = Q$  的 Hermitian 正定解的界的新估计

蔡 静<sup>1,2</sup> 陈建龙<sup>1</sup>

(<sup>1</sup>东南大学数学学院, 南京 211189)  
(<sup>2</sup>湖州师范学院理学院, 湖州 313000)

摘要:研究了非线性矩阵方程  $X^s + A^* X^{-t} A = Q$  的 Hermitian 正定解的范围和存在条件,其中  $A$  为  $n$  阶非奇异复矩阵, $Q$  为  $n$  阶 Hermitian 正定矩阵,参数  $s, t > 0$ . 基于矩阵几何理论、相关矩阵不等式和线性代数技术,针对参数  $s, t$  的不同取值范围,给出了 Hermitian 正定解的存在区间和方程可解的必要条件. 比较已有的相关结果,所给出的 Hermitian 正定解的上界和下界估计更加精准,适用范围更广.

关键词:非线性; 矩阵方程; Hermitian 正定解; 解的界; 矩阵不等式

中图分类号:O241.5